MCQ - Equations Sheet 1

Identify the property from the choices below.

1) Associative 2) Identity

A 5x(8+11)=5%x8+5x11 A 11+4=4+11
. 5x8)x11=5x%x(8x11) B. 11x(4x7)=(11x4)x7
. 5x1=5 cC. 11+0=11
. 5+(=5)=0 D. 11x—==1

Correct Choice: [j Correct Choice: C}

3) Distributive 4) Commutative

A 4x12=12 %

B. 4+ (12+3) =
C. 4x (12+3) =
D. 4+ (-4)=0

Correct Choice: [
5) Identity Gain complete access to the largest

A. 7x12 =12 x JJcollection of worksheets in all subjects!
B. (7x12)x2=
C. 7x1=7

D. 7+12=12 +

Not a member;
Correct Choice: [ Please sigh up to

7) Commutative 93in complete

A 6+ (4+5)=( el
. 6+4+5=06"
. 6X1=6
. 6X(4+5)=¢ www.mathworksheets4kids.com

Correct Choice:

9) Inverse 10) Distributive

A 3x==1 A 12x5=5x12

34023 B. (12+5)+7=12+(5+7)
(B3x9) X7 =3x(9x7) C. 12x(5+7) =12x5+12x7
3% 9203 D. 12+ (~12) =0

Correct Choice: CJ Correct Choice: B
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Answer key

MCQ - Equations

1) Associative 2) Identity

A 5x(B8+11)=5x8+5x11 A 11+4=4+11
. 5x8)x11=5x%x(8x11) B. 11x(4x7)=(11x4)x7
. 5x1=5 C. 11+0=11
. 5+(=5)=0 D. 11x—-=1

Correct Choice: Correct Choice:

3) Distributive 4) Commutative

A 4x12=12x4 A 9x13 =13 x9
B. 4+ (12+3) =
C. 4x(12+3) =

Correct Choice: [
5) Identity
A 7x12=12x || Gain complete access to the largest

B. (7x12) x2 =Reollection of worksheets in all subjects!
C. 7x1=7
D

L 7+12 =12+

Correct Choice: [ Not 3 member}
7) Commutative Please sigh up to

A 6+ (4+5)=(
. 6+44+5=6"
. 6X1=6
. 6X(4+5)=¢

www.mathworksheets4kids.com

Correct Choice: [

9) Inverse
A 3xi=1 . 12x5=5x12
3+?6=3 . (12+45)+7=12+(5+7)
L (B3x9)X7=3%(9x%7) L 12x(5+7)=12x5+12x%x7
. 3X9=9x%x3 .12+ (-12) =0

Correct Choice: Correct Choice:
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